What will be the resultant of two noise levels of 81 dB and 90 dB generated by two
independent sources?

(1) ~96dB (2) ~91dB
(3 ~98dB (4 ~118dB

21 T FE T giom 81 SHiee 3 90 SHiEe F w3 TaE 1 uiemm o A

1 ~96dB (2) ~91dB
(3) ~ 08 dB (49 ~118dB

[Question ID = 2614][Question Description = Q36_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10453]
| 2. 2 [Option ID = 10454]
3. 3 [Option ID = 10455]
4. 4 [Option ID = 10456]
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List I List II
(A) Kyoto Protocol (I} Clean and Affordable Energy
(B) Montreal Protocol (II) Clean Development Mechanism
(C) Paris Agreement (IIT) Nationally Determined Contribution
(D) International Solar Alliance (IV) Phase out of chlorinated compounds

Choose the correct answer from the options given below :

(1)  A)-ID. (B)-(IV). (C)-(I1I), (D)-(D)
(2  A-. B)-II), (C)-(IV). (D)-(T)
(3)  A-ID, (B)-(IV), (C)-(1), (D)-(IT)
4  (AIID. B)-IV). (C)-D. D)-ID

Tefi-1 % w9 gehi-11 1 faema Fifse
I =11
(A) TR TR M) ==s I T =4
(B) WIZaa e ) ==s fawm @
(C) uftm gwg (1) w¥m =9 = faffrea arem
D) W= e (V) T s 1wy A

4= 2 famwe § § T8 I W 94 Hifan

(1)  A-ID. B)-1OV). (C)-1ID. (D)-(D
2)  @-D. B-IID). (C)-AV). (D)-ID
(3) (AT, B)-IV), (C)-(I). (D)-(IIT)
(4)  (A)-(ID, B)-(IV), (C)-(D). (D)-(IT)

[Question ID = 2615][Question Description = Q37_GP_24NOV_51_SHAAN_Shift1]

| 1. 1 [Option ID = 10457)
2. 2 [Option ID = 10458
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Statement I :

Statement II: Black absorber plat radiates infrared radiations.

In the light of the above statements, choose the corrrect answer from the options given
below:

(1)

(2)

(3)

(4)

Given below are two statements:

House Effect.

Both Statement I and Statement II are true

Both Statement I and Statement II are false

Statement I is true but Statement IT is false

Statement I is false but Statement IT is true
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[Question ID = 2616][Question Description = Q38_GP_24N0V_51_SHAAMN_Shift1]

| 1. 1 [Option 1D = 10481]
2. 2 [Option ID - 10462]
3. 1 [Option ID - 10463]
4. 4 [Option 1D - 10464]

Solar flat plat collectors essentially work on the principle of Green



34) Identify the correct sequence in decreasing order of percentage of total world’s water in the

following locations :

(A) Atmosphere

(B)  Rivers and streams
(C) Ground water

(D) Lakes (Fresh water)

(E)  Ice caps and Glaciers

Choose the correct answer from the options given below :

(1) (E) (C). (B). (D). (A) () (E). (B), (C). (D), (A)
(3)  (E). D). (C). (B). &) 4) (E).(C), (D). Y. (B)

fava % T 7= wfawm i Frewfea = §i 3l 2 sEmh #a A mEfem fitw

A A=
(B) A 3R FeuE
© g

(D) == (arE )
(E) Teweid =i fewae

= 20 70 faweT § O/ "R 39w 999 iAo

1) (E)(C).(B). (D). (A) 2  (E). (B). (). D). A)
@) (E) (D). (). B). &) @ (E). (C). (D). (A). (B)

[Question ID = 2617][Question Description = Q39_GP_24N0V_S1_SHAAN_Shift1]
1. 1 [Option ID = 10465]
2. 2 [Option ID = 10466]
3. 3 [Option ID = 10467]
| 4. 4 [Option ID = 10468]



35) By the vear 2030, Sustainable Development Goal 7 aims at enhancing the global rate of
improvement in energy efficiency by a factor of
(1) Two (2) Three

(3) Four (4) Five

o 2030 7%, WU fEE |E-T F 3evA SeEar F AvaF = 4 A 1o Fi i e 27

(1 = (2 =
(3 =m (4) wH=

[Question ID = 2618][Question Description = Q40_GP_24NOV_S1_SHAAN_Shift1]
| 1. 1 [Option ID = 10465]

2. 2 [Option ID = 10470]

3. 3 [Option ID = 10471]

4. 4 [Option ID = 10472]



According to one of the Sustainable Development Goals, the per capita global food waste at
the retail and consumer levels is to be reduced to the extent of

(1)  1/2 (Hald (2) 13 (One third)
(3)  1/4 (One fourth) (4) 1/10 (One tenth)

uToir fapm wafed § | v F A, gI s e W 9 st dfvas aw-steae w
qitaT 9 H2ET A

1) 12 (zm) @) V3 (v famrd)
(3 1/4 (v =tems) (49) 1/10 (7= =)

[Question ID = 2714][Question Description = Q36_GP_Set8_51_Shift2]
| 1. 1 [Option ID = 10853]

2. 2 [Option ID = 10854]

3. 3 [Option ID = 10855]

4. 4 [Option ID = 10856]
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According to WHO standards, the pesticide content (Lindane or DDT) in drinking water
should not exceed

()  1pgl? (2) 2pgLt

(3)  5ugLt (4 10 pgL?
fava = A F RN T T ¥ e O (R a SaA,) T wtaw T
(1) 1 gl (2) 2 pglit
(3)  5ugL! (4) 10 pgL?

[Question ID = 2715][Question Description = Q37_GP_Set8_51_Shift2]
1. 1 [Option ID = 10857]
| 2. 2 [Option ID = 10858]
3. 3 [Option ID = 10859]
4. 4 [Option ID = 10860]



33) Which of the following Pollutants has the least residence time in atmosphere?

(1) Nitric Oxide (2) Nitrous Oxide
(3) Chloroflorocarbons (4) Methane

=1 % | 8 TguF F1 A § =HaH I w7 7

(1)  EH AEES (2) EH HFETES

(3)  FERI-TEFI-FTEA (4) wem
[Question ID = 2716][Question Description = Q38_GP_Set8_51_5Shift2]
1. 1 [Option ID = 10861]
2. 2 [Option ID = 10862]

3. 3 [Option ID = 10863]
| 4. 4 [Option ID = 10864]



34 x :
) Noise levels (db) are referenced to the human hearing threshold at a frequency of
(1) 50 Hz (2) 100 Hz
(3) 1 KHz (4) 4 KHz

| wmafa W AHE - gav - SaEEE et g ww () Wy e e s 2

()  S0Hz (2) 100 Hz
(3)  1Khz (4) 4Khz

[Question ID = 2717][Question Description = Q39_GP_Set8_51_5Shift2]
1. 1 [Option ID = 10865]
2. 2 [Option ID = 10866]
| 3. 3 [Option ID = 10867]
4. 4 [Option ID = 10868]

Correct Answer :-
e 1 [Option ID = 10865]



International Solar Alliance Framework Agreement entered into force in the year

() 2015 (2) 2017
(3) 2016 (4) 2018

FAUEE B T3 At (SIS Wi ST B Wi ) S 5

(1) 2015 (2) 2017
(3 2016 (4) 2018

[Question ID = 2718][Question Description = Q40_GP_Set8_5S1_Shift2]
1. 1 [Option ID = 10869]
| 2. 2 [Option ID = 10870]
3. 3 [Option ID = 10871]
4. 4 [Option ID = 10872]

Correct Answer :-



